1 2 | 3
A |
|
B
1.2mm ALUMINIUM
WEATHER COVER
C

KINGSPAN INSULATED
ROOFING PANEL

1.2mm ALUMINIUM
WEATHER COVER

MKT CUSTOM BRACKET

D
B)
M8 STAINLESS STEEL —
TOGGLE BOLT
SECTION A-A
1:5
£ M8 PENNY WASHER
$32 NEOPRENE
SEALING WASHER
= pe——— ®32 NEOPRENE
SEALING WASHER /DRAWN BY: LIK
MODELED BY: LJK
CHECKED BY: BP/BD/LK
£ DATE DRAWN: 1/02/2019
LAST SAVED: 4/02/2019
MATERIAL: SEE B.O.M.
DETAIL 1 FINISH: Mill
11 TOLERANCES: +0,-2.0;0.1°

5 6 7 8
ITEM CODE DRW NO. DESCRIPTION g?y P$$YK CUT LENGTH PCK'D | CHK'D
1 20262-HDB-2 Folded Hold Down Bracket 2 100
2 20262-HDB-3 Folded Hold Down Cover 2 100
3 FBS10.75 M10 x 75mm Stainless Steel Bolt 2 100
4 FNS10.1 M10 Stainless Steel Nyloc Nut 2 100
5 FTS01.22 12g x 22mm Stainless Steel Self 8 400
6 FWN32 @32 Neoprene Sealing Washer 4 200
7 FWS10.1 M10 Stainless Steel Washer 4 200
8 LD934.20 M8 Toggle Bolt & Threaded Rod 2 100
9 PURCHASE M8 Stainless Steel Penny 2 100

Vicnkeytos

EVERYTHING BETTER

DETAIL 2

PLATFORM TRUSS

QTY: 50 OFF

PURLIN (INDICATIVE ONLY)

ADDITONAL HOLD DOWN BRACKETS
AT ALL PERIMETER PURLIN/TRUSS
LOCATIONS

KINGSPAN KS1000 ROOFING

/" WINDLOAD MECHANICAL HOLD DOWN BOLTS

©'p1] d0MaquolN Ag pareubisap reyl Jayio Juasuod uanum Joud inoyum ‘98(oid Jo asodind Aue Joj pasn aq jou [[eys 3| “p1] a0)kaxuoly jo Auadoid pue ybuAdod ayp si ubisap pareidosse pue Buimelp siyL

DWG No: 20262-HDB-1 20262

A ] SHEET 1 OF 1 A3

N2 SCALE: 1:6.25 REV:02
DO NOT SCALE DIMENSIONS IN MILLIMETERS




